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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 7 printed pages + 2 Maps.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 23 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 8 + 2 ekufp=k gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 23 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

HISTORY
bfrgklbfrgklbfrgklbfrgklbfrgkl

Time allowed : 3 Hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :
(i) Answer all the questions. Marks are indicated against each question.
(ii) Answers to questions carrying 2 marks should not exceed 30 words each.
(iii) Answers to questions carrying 5 marks should not exceed 100 words each.
(iv) Answers to questions carrying 8 marks should not exceed 250 words each.
(v) Attach the maps with the answer scripts.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds lkeus fy[ks gSaA

(ii) 2 vad okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

(iii) 5 vad okys izR;sd iz'u dk mÙkj 100 'kCnksa ls vf/kd u gksA

(iv) 8 vad okys izR;sd iz'u dk mÙkj 250 'kCnksa ls vf/kd u gksA

(v) ekufp=k viuh mÙkj&iqfLrdk ds lkFk layXu dhft,A

MODERN INDIA

vk/kqfud Hkkjr

1. Briefly   explain   two   achievements   of Maharaja   Ranjit  Singh  in  establishing  a  well
organised state. 2

,d lqlaxfBr jkT; ds fuekZ.k esa egkjktk jathr flag dh nks miyfC/k;ksa dks la{ksi esa le>kb,A

2. Explain one reason for the reaction against the Vernacular Press Act of 1878. 2

1878 ds oukZD;qyj izsl vf/kfu;e ds fo#) izfrfØ;k gksus dk ,d dkj.k Li"V dhft,A
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3. Briefly explain any two social reforms of Ishwar Chandra Vidyasagar for the upliftment
of women. 2

efgykvksa ds mRFkku ds fy, bZ'oj panz fo|klkxj ds fdUgha nks lkekftd lq/kkjksa dks la{ksi esa

le>kb,A

4. Examine  the  main  commonalities  between  the  Arya  Samaj   and  the  Satya  Shodhak

Samaj. Mention the main book authored by the founder of Arya Samaj. 4+1=5

OR
Explain the main characteristics of the Indian Association of 1876. Who were the two
founder members of this Association ?

vk;Z lekt vkSj lR; 'kks/kd lekt dh eq[; lekurkvksa dk ijh{k.k dhft,A vk;Z lekt ds

laLFkkid }kjk fy[kh xbZ izeq[k iqLrd dk uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

1876 esa LFkkfir bf.M;u ,lksfl,'ku dh eq[; fo'ks"krkvksa dks le>kb,A blds nks laLFkkid lnL;

dkSu&dkSu Fks \

5. Explain the main contributions of Bipin Chandra Pal to the freedom struggle. Mention a
newspaper published by him. 4+1=5

OR
What was the Deoband movement ? Examine its significance.  2+3=5

Lora=krk&la?k"kZ ds fy, fcfiu pUnz iky ds izeq[k ;ksxnkuksa dks Li"V dhft,A muds }kjk izdkf'kr ,d

lekpkj&i=k dk ukeksYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

nsocan vkanksyu D;k Fkk \ blds egÙo dk ijh{k.k dhft,A

6. Describe the role of Vinayak Damodar Savarkar in the freedom struggle of India. 5

OR
Describe the role of Sir Sayyid Ahmad Khan in social and religious awakening among

the Muslims.

Hkkjr ds Lora=krk la?k"kZ esa fouk;d nkeksnj lkojdj dh Hkwfedk dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

eqlyekuksa ds lkekftd vkSj /kkfeZd tkxj.k esa lj lS;n vgen [kku dh Hkwfedk dk o.kZu dhft,A

7. What was  the Federation of India as mentioned in the Act of 1935  ? Examine the
attitude of Princely States to the issue. 2+3=5

OR
Examine  the  main features  of Dandi March and  explain major developments  which
began after the March. 4+1=5
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1935 ds vf/kfu;e ds varxZr Hkkjrh; la?k D;k Fkk \ bl eqís ds izfr fj;klrksa ds #[k dk

ijh{k.k dhft,A

vFkokvFkokvFkokvFkokvFkok

nkaMh ;k=kk ds izeq[k y{k.kksa dk ijh{k.k dhft, vkSj bl ;k=kk ds ckn izkjaHk gq, izeq[k ?kVukØeksa dks

le>kb,A

8. Explain the concept of Secularism as described in the Constitution. 5

OR

Explain why and when the Individual Satyagraha began. 4+1=5

lafo/kku esa of.kZr /keZ&fujis{krk dh vo/kkj.kk dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

le>kb, fd O;fäxr lR;kxzg dk izkjaHk D;ksa vkSj dc gqvkA

9. Explain how the Battle of Buxar proved more decisive than the Battle of Plassey in the

establishment of the British rule in India. 8

OR

Explain the main provisions of the Regulating Act of 1773. Examine its limitations. 4+4=8

Li"V dhft, fd Hkkjr esa vaxzsth 'kklu dh LFkkiuk esa Iyklh ds ;q) dh vis{kk cDlj dk ;q)

fdl izdkj vf/kd fu.kkZ;d fl) gqvkA

vFkokvFkokvFkokvFkokvFkok

1773 ds jsX;qysfVax ,DV ds izeq[k izko/kkuksa dks Li"V dhft, vkSj bldh lhekvksa dk ijh{k.k

dhft,A

10. Describe the main developments which compelled many Indian rulers to lead the Revolt

of 1857. Mention three main consequences of the Revolt. 5+3=8

OR

Describe the causes of the Santhal Rebellion of 1855. What were its long-term effects ?

How was the Rebellion suppressed by the British ? 4+2+2=8

mu izeq[k ?kVukvksa dk o.kZu dhft, ftuls Hkkjrh; 'kkld 1857 ds fonzksg dk usr`Ro djus dks

ckè; gq, \ fonzksg ds rhu izeq[k ifj.kkeksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

1855 ds laFkky&fonzksg ds dkj.kksa dk o.kZu dhft,A blds nh?kZdkfyd ifj.kke D;k Fks \ bl

fonzksg dk vaxzstksa }kjk fdl izdkj neu fd;k x;k \
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11. Analyse the circumstances under which the Simon Commission was appointed. Explain

its recommendations and the reasons for its failure. 2+3+3=8

OR

Read the following statement carefully and answer the questions that follow :

“To sound the order of retreat just when public enthusiasm was reaching the
boiling-point was nothing short of a national calamity. The principal lieutenants of the
Mahatmaji, Desbandhu Das, Pandit Motilal Nehru and Lala Lajpat Rai, who were all
in prison, shared the popular resentment.”

(i) In which context and by whom was this statement made ? 2

(ii) What was this ‘retreat’ ? 2

(iii) Critically examine the development which followed the so-called ‘retreat’. 4

mu ifjfLFkfr;ksa dk fo'ys"k.k dhft, ftuesa lkbeu deh'ku dh fu;qfä gqbZA bldh laLrqfr;ksa dks

vkSj blds vlQy gksus ds dkj.kksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

fuEufyf[kr dFku dks /;kuiwoZd if<+, vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

^^ftl le; turk dk mRlkg viuh pje lhek dks Nwus okyk Fkk] ml le; ihNs

gV tkus dk vkns'k nsuk jk"Vªh; vuFkZ ls de ugha FkkA egkRekth ds izeq[k lg;ksxh] ns'kcU/kq

nkl] iafMr eksrhyky usg: vkSj ykyk yktir jk;] tks lc tsyksa esa Fks] Hkh bl lkewfgd

f[kérk esa Hkkxhnkj FksA**

(i) ;g dFku fdl lanHkZ esa vkSj fdlds }kjk dgk x;k Fkk \

(ii) ;g ^ihNs gVuk* D;k Fkk \

(iii) bl ^ihNs gVus* ds i'pkr~ tks ?kVuk gqbZ Fkh mldk vkykspukRed ijh{k.k dhft,A

12. On the given political outline map of India locate and label the following : 5

Any five main centres of the Revolt of 1857 in Southern India.

OR

On  the  given  political  outline  map  of India locate  and  label  the  places  where  the
Congress sessions were held in the following years :

1888,  1907,  1916,  1929,  1938

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ij fuEufyf[kr dks n'kkZb, rFkk ukekafdr dhft, %

nf{k.k Hkkjr esa 1857 ds fonzksg ds dksbZ ls ik¡p izeq[k dsUnzA

vFkokvFkokvFkokvFkokvFkok

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ij mu LFkkuksa dks n'kkZb, vkSj ukekafdr dhft,

tgk¡ fuEufyf[kr o"kks± esa dkaxzsl ds vf/kos'ku gq, Fks %

1888,  1907,  1916,  1929,  1938
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Note : The following question is for the Blind Candidates only in lieu of Q. No. 12.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz- la- 12 ds LFkku ij gSA

Write the names of five centres of the Revolt of 1857 in Southern India.

OR

Write the names of the places where the following Congress sessions were held :

1888, 1907, 1916, 1929, 1938

nf{k.k Hkkjr esa 1857 ds fonzksg ds fdUgha ik¡p dsUnzksa ds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

mu LFkkuksa ds uke fyf[k, tgk¡ fuEufyf[kr o"kks± esa dkaxzsl ds vf/kos'ku gq, Fks %

1888,  1907,  1916,  1929,  1938

Contemporary World History

lelkef;d fo'o bfrgkl

13. In what way did Italy violate the objectives of the League of Nations ? 2

bVyh us jk"Vª&la?k ds mís';ksa dk mYya?ku fdl izdkj fd;k \

14. Explain one important feature of World War II in North Africa. 2
mÙkjh vÝhdk esa f}rh; fo'o ;q) ds ,d izeq[k y{k.k dks le>kb,A

15. Mention one reason for the truce between Iran and Iraq in 1988. 2
1988 esa bZjku vkSj bjkd esa ;q) fojke ds ,d dkj.k dk mYys[k dhft,A

16. What is GATT ? 2
GATT D;k gS \

17. Briefly explain any characteristic of the writings of R.K. Narayan. 2
vkj-ds- ukjk;.k ds ys[ku dh fdlh fof'k"Vrk dks la{ksi esa Li"V dhft,A

18. What is Press Trust of India ? 2
izsl VªLV vkWQ bf.M;k D;k gS \

19. Explain how the cause-effect approach is not a sufficient tool for writing contemporary
history. Give one example in support of your argument. 3+2=5

OR

Explain  the   terms   of the  Treaty  of Portsmouth  (1905)  between  Russia  and  Japan.
Explain its far-reaching implications for the Tsarist regime.

Li"V dhft, fd lelkef;d bfrgkl ds ys[ku ds fy, dk;Zdkj.k i)fr ,d i;kZIr midj.k dSls

ugha gSA vius rdZ ds leFkZu esa ,d mnkgj.k nhft,A

vFkokvFkokvFkokvFkokvFkok

:l vkSj tkiku ds chp gqbZ iksV~lZekmFk laf/k ¼1905½ dh 'krks± dks le>kb,A t+kj 'kklu ds fy, bl

laf/k ds nwjxkeh ifj.kkeksa dks Li"V dhft,A
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20. Describe the main reasons for the outbreak of the Spanish Civil War in 1936. Who led
the Spanish Fascists ? 4+1=5

OR
What was the Great Depression ? Describe its three main causes. 2+3=5

1936 esa Lisuh x`g ;q) HkM+dus ds izeq[k dkj.kksa dk o.kZu dhft,A blesa Lisuh Q+klhokfn;ksa dk

usr`Ro dkSu dj jgk Fkk \

vFkokvFkokvFkokvFkokvFkok

egkeanh ¼xzsV fMizs'ku½ ls vki D;k le>rs gSa \ blds rhu izeq[k dkj.kksa dk o.kZu dhft,A

21. What was the Gang of Four in China ?   Examine its role during the cultural revolution.
2+3=5

OR
What is meant by Khruschev’s Era in the history of USSR ? Examine the nature of
Sino-Soviet relationship during the period. 2+3=5

phu esa pkj dk xqV ¼xSax vkWQ Q+ksj½ D;k Fkk \ lkaLÑfrd Økafr ds nkSj esa bldh Hkwfedk dk ijh{k.k

dhft,A

vFkokvFkokvFkokvFkokvFkok

lksfo;r la?k ds bfrgkl esa [kzq'pso&;qx dk D;k vk'k; gS \ bl dky esa phu&lksfo;r laca/kksa ds Lo:i

dk ijh{k.k dhft,A

22. When did the World War II break out ? Explain its main causes. Discuss two main
consequences of the World War II on the world development. 1+5+2=8

OR
Examine the relations between the USSR and China after 1950. What were its effects ?

4+4=8

f}rh; fo'o ;q) dc izkjaHk gqvk \ blds izeq[k dkj.kksa dks Li"V dhft,A fo'o ds fodkl ij

bl ;q) ds nks izeq[k ifj.kkeksa dk foospu dhft,A

vFkokvFkokvFkokvFkokvFkok

1950 ds ckn lksfo;r la?k vkSj phu ds laca/kksa dk ijh{k.k dhft,A blds D;k ifj.kke gq, \

23. On the given outline map of Europe mark and show any three NATO member countries
and any two member countries of the Warsaw Pact. 3+2=5

OR
On the given outline map of Europe mark and show any five countries which were
members of the Warsaw Pact. 5

fn, x, ;wjksi;wjksi;wjksi;wjksi;wjksi ds js[kk&ekufp=k ij ukVks laxBu ds fdUgha rhu lnL; ns'kksa vkSj okjlk le>kSrs ds

fdUgha nks lnL; ns'kksa dks fpfÌr djds n'kkZb,A

vFkokvFkokvFkokvFkokvFkok

fn, x, ;wjksi;wjksi;wjksi;wjksi;wjksi ds :ijs[kk&ekufp=k ij okjlk le>kSrs ds fdUgha ik¡p lnL; ns'kksa dks fpfÌr djds

n'kkZb,A
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Note : The following question is for the Blind Candidates only in lieu of Q. No. 23.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz- la- 23 ds LFkku ij gSA

Write down the names of any three member countries of NATO and any two members
countries of Warsaw Pact.

OR

Mention the names of any five member countries of Warsaw Pact.

fdUgha rhu ukVks ds rFkk nks okjlk le>kSrk ds lnL; ns'kksa ds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

okjlk le>kSrk ds ik¡p lnL; ns'kksa ds uke fyf[k,A
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